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Orax| {1 |Buawnamope| 2 |Buanamope| 3 |Buanamope| 4 |Buanamope| 5 |Bupnamope| § |Bupnamope| 7 | Bupnamope| g |Buamamope| 9 | Bupnamope | 1() | Buana mope| 11 | Bua Ha mope
Ne [sm2] vz | Ne [sm2] a2 | Ne [sm2] a2 [ Ne [sm2 [ a2 [ Ne [sm2] a2 [ Ne [sm2] a2 [ Ne [sm2] av2 | Ne [sm2] av2 | Ne [sm2] av2 [ Ne [sm2] a2 | Ne [ sm2 [ am2
1 101 33,5|3nonno 102 33,3 |3oo 00| 103 33,9|:nnnno 104 | 33,0 |auoonn 105 33,4|3oo 000 106 | 33,8 |3ououn 107 | 32,8 |3ooooo 108 | 33,3 |3ooono 109 33,s|3uu 000 110 32,7| 11 442 |2sasoo
10 050 000 | 9990 000 |10 170 000( 9 900 000 |10 020 000 [ 10 140 000 | 9 840 000 | 9990 000 | 10 140 000 | MpoamaHo | 13 260 000
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3rax| 1 |Buanamope| 2 |Bnanamope| 3 |Buawamope| 4 |Buanamope| 5 |Buanamope] 6 |Buanamope| 7 | Buanamope| g |Buaramope| 9 | Buawamope | 10 |Buawamope| 11 | Bua na mope
Ne [sm2] av2 | Ne [sm2] av2 | Ne [sm2] a2 | Ne ['sm2 [ a2 | Ne [sw2] au2 | Ne [Sm2] a2 [ Ne [sm2] av2 | Ne [sm2] av2 | Ne [sm2] av2 | Ne [sm2] a2 | Ne [ sm2 [ am2
2 201 44,2 [s0a 100[ 202 32 | 203[ 32,7 | 204 322 | 205 [ 32,3 206 327 | 207[ 321 | 208 [ 52,5 [s04 100[ 200 | 32,4 | 210[ 321 | 211] 40,4 [262400
13 441 220 | NpopaHo | MpopaHo | MpopaHo | MpopaHo | MpopaHo | MpopaHo | 15965250 | MpopaHo | MpoaaHo BpoHb
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9rax| 1 |Buawamope| 2 |Buanamope| 3 |Buanamope| 4 |Buawamope| 5 |Buawamope| 6 |Buawamope| 7 | Bugnamope | g |Buanamope| 9 | Buanamope | 10 |Buanamope| 11 | Buana mope
Ne [sm2] m2 | Ne [sm2| a2 [ Ne [sm2] a2 | Ne [sm2 [ w2 | Ne [swma] m2 [ ne [sm2 ]| m2 [ Ne [sm2] m2 [ Ne [sm2] m2 | Ne [sm2] a2 [ Ne [sm2] 2 [ Ne [ sm2 [ am2
3 301 51,9 [s12.300] 302 41,2 [312 300] 303] 41,8 [512 300 304 ] 413 | 305 [ 41,2 306] 42 [s12300[ 307 41,2 [312 300 308 ] 41,4 [s12300[ 309 | 42 [312300] 310] 41,3 [512300] 311] 540 Jar0 600
16 208 370 | 12 866 760 | 13 054 140 | NpopaHo | MNpopaHo |13 116 600 | 12 866 760 | 12 929 220 | 13 116 600 [ 12 897 990 | 16 864 200
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drax| 41 |Buanamope| 2 |Buanamope| 3 |Buamnamope 4 Bua Ha mope 5 Bua Ha mope 6 |Buanamope| 7 | Buanamope| 8 |Buanamope| 9 Bua Ha mope
Ne [sm2] amz2 [ ne [sm2] av2 | Ne [sm2] an2 Ne sw2 | a2 Ne sw2_ | 2 Ne [sm2] an2 | Ne [sm2] a2 [ Ne ['sm2] a2 [Ne [ sm2 | w2
A 401] 56,1 [320 s00] 402 [ 41,6 [320 500[ 403 [ 41,5 [s20 500] 404405 83 | 320500 | 406-407 83 | 320500 [408[61,8320500[409] 42 [320500[410] 41,1 [s20500[411] 505 [orss00
~ "[17 980 050 BpoHb BpoHb BpoHb 26 601 500 MpoaaHo | 13 461 000 | 13 172 550 | 16 185 250
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drax| 1 |Buanamope| 2 |Buanamope| 3 |Bupnamope| 4 |Buanamope| 5 |Bugnamope| G |BuaHamope| 7 |Bupnamope| 8 |Buanamope| 9 | Buanamope | 1() |BuaHamope| 11 | Bua Ha mope
Ne [sw2] a2 [ ne [sm2] a2 | Ne [sm2] vz [ Ne ['sm2 [ w2 | Ne [sm2] vz ['Ne ['sm2] a2 [ Ne [sm2] a2 | Ne [sm2] mn2 | Ne [sm2] w2 | Ne ['sm2] 2 [ ne [sm2 T w2
q 501 54,6 [328 700] 502 | 41,4 [328 700 503 | 41,8 [s28 700] 504 | 41,5 [s28 700] 505 [ 41,5 |328 700] 506 | 42 [s28 700] 507 ] 41,4 [328 700 508] 61,9 | 509] 413 ] 510 41 | 511] 47,5 [287000
= 17947020 | 13 608 180 | 13 739 660 | 13 641 050 | 13 641 050 [ 13 805 400 | 13 608 180 | MNpomaHo | lNpomaHo | MpoaaHo MpoaaHo
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